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INSTRUCTIONS (Jg#5wes)

Please check the Test Booklet and ensure that it contains all the questions. If you find any defect
in the Test Booklet or Answer Sheet, please get it replaced immediately.
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The Test Booklet contains 150 questions. Each question carries one mark.
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The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.
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The Test Booklet is printed in four (4) Series, viz. @‘ . The Series, or or or
is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Booklet Series or@oror@in Part C on side 2 of the Answer Sheet by darkening the
appropriate circle with HB Pencil.
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Example to fill up the Booklet Series

If your Test Booklet Series is A, please fill as shown below:

®®0O©O0

If you have not marked the Test Booklet Series at Part C of side 2 of the Answer
Sheet or marked in a way that it leads to discrepancy in determining the exact
Test Booklet Series, then, in all such cases, your Answer Sheet will be invalidated
without any further notice. No correspondence will be entertained in the matter.
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(2) : GS/

Fach question is followed by 4 answer choices. Qf these, you have to select one correct answer
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more 1
one circle is darkened, the answer will not be valued at all, Use HB pencil to make heavy b
marks to fill the circle completely. Make no other stray marks.
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¢.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
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Mark Paper Code and Roll No. as given in the Hall Ticket with HB pencil by darke
appropriate circles in Part A of side 2 of the Answer Sheet. Incorrect/not encoding will le:
invalidation of your Answer Sheet,
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Example : 1f the Paper Code is 027, and Roll No. is 95640376 fill as shown below :
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Pleage get the signature of the Invigilator affixed in the space provided in the Answer She
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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8. To change an answer, erase completely the already darkened circle and use HB pencil to make
fresh mark.
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9. The candidate should not do rough work or write any irrelevant matter in the Answer Sheet.
Doing so will lead to invalidation.
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10. Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
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11. Before leaving the examination hall, return the Answer Sheet to the Invigilator, failing which,
disciplinary action will be taken.
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Fill in the next number in the series : 5. Choose the number that will continue the
3 7. 16, 35, series :
242, 353, 464, 575,
(1) 39
(1) 676
2
L (2) 686
@ 7 3) 696
(4) T4 (4) 787
Fill in the next number in the series : 6. Ten men can finish construction of a well
5, 15, 45, 135, in eight days. How many men are needed
to finish the work in half-a-day ?
& (1)~ 160 men
@) 15 (2) 120 men
(3) 405 (3) 100 men
(4) 675 (4) 80 men

Chalk and Blackboard are related in the |7. A man walks along a rectangle whose
same manner as perimeter is six km. If the area of the
rectangle is two sq. km, what is the

(1) Srudertan Botks difference between the length anc

(2) Ink and Paper breadth of the rectangle ?
(3) Door and Handle (1) % km
(4) Paint and Brush
(2) 1km
Spot the odd number in the following : @) 11 i
2
d: 7
(4) 2 km
b. 35
c. 27 8. A one-rupee coin is placed on plain paper
4. 49 . How many coins of the same size can b
' placed round it so that each one touche
the central and adjacent coins ?
ey W 3
(2) a @ 4
3) ¢ 3 6
(4) d 4) 7
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3) 70
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(3) 406
4) 675
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242, 353, 464, 575,

(1) 676

(2) 686

(3) 696

(4) 787
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2 1 8,
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1 3

2) 4
3 6
4) 7



10.

11.

12.

(6)

A person covers the distance from P to Q
at the speed of three kmph. From Q to B,
he covers it at six kmph. What is the
average speed per hour ?

(1) 3-5 kmph
(2) 4 kmph
(3) 45 kmph
(4) 5 kmph

If PASSPORT is coded as RCUURQTV,
then how will BOOKLET be coded ?

(1) CQQMNFV
(2) CPPLMFU
(3) DRRNMGW
(4) DQQMNGV

Find the probability that in five tosses, a
coin shows heads at least 3 times in
succession.

3
(1) 0
(2] —

1
(3) 5
(4) 3

The angle between the minute-hand and
the hour-hand, when the clock shows the
time as 7-30, is

(1) 36°
(2)
(3)
4)

45°
30°
40°

14.

15.

GS/20(

In a class of 80 students only 20 went fo:
a summer camp organised as part of ths
school programme. What percent of thi
total class opted out ?

(1) 75
(2) 60
3) 25

(4) 45

Spot the emotion that does not belong 1
the group :

(1) twinkling eyes

(2)

wrinkled nose

(8) straight forehead

(4) smiling lips

‘Special Education’ programmes are |

these target groups :

1)

industrious children
(2) genius men and women
retarded men and women

(3)

(4) handicapped children






































































































